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\ "\ 42 Writing How is solving 3 literal cquation similar to solving

an equation that involves ome variable? How is it different?

43, Open-Ended Write an equation using three variablex. Solve
the equation for each variable. Show all your steps.

3 Challenge (5] #4. Geometry To find the coordinate of the midpoint of a segment with
endpoints that have coordinates @ and b, you can use the formula m -'—F'.

& Find the coordinate of the midpoint of a segment with :ndp-uinu.ﬂnlﬁ
b. Transform the formala 1o find b in terms of o and m.
¢ A segment has midpoint 2.1. One endpoint is —1.7. Find the other endpoist

@ 45 Recreation The aspect fatio of a hang glider describes its ability to glide

soar. The formula R =  gives the ratio R ider with wingspan §
and wing area A, aspect for a glider with wingspan

:.s.m- this formula for A,
Suppose you want 1o design a glider with a 91 wingspan and an aspect i’
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